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A2RCC  U3D7 Word Problems

Use the reference table to the right to assist you in answering questions 1-5.





1) Approximately how many seconds does it take a 100g sample of As-81 to decay to 6.25g?





2) Approximately how many days does it take a 180g sample of Au-198 to decay to  its original mass?





3) What percent, to the nearest hundredth of a percent,  of a sample of As-81 remains un-decayed after 43.2 seconds?





4) What is the half-life of a radioactive isotope if a 500g sample decays to 62.5g in 24.3 hours?





5) Approximately how old is a bone if it presently contains 0.3125gof C-14, but it was estimated to have originally contained 80g of C-14?






6) On average, college seniors graduating in 2012 could compute their growing student loan debt using the function , where  is time in years. Which expression is equivalent to  and could be used by students to identify an approximate daily interest rate on their loans?

(1)   
(2)  
(3) 
(4) 
7) [image: ]  



Explain your choice.	
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8)   







9) [bookmark: _GoBack]Angie found that the number of white-winged crossbills in an area can be represented by the formula, where  represents the number of years since 2010. Which equation correctly represents the number of white-winged crossbills in terms of the monthly rate of population growth?

(1) 		 (3) 
(2) 		 (4) 
[image: ]
10)  









11) Grace pays a $712 premium for house loan. If the premium increases at an annual rate of 6% compounded quarterly, how many years will it take for the premium to be $898.90?


image4.png
The world population was 2560 million peaple in 1950 and 3040 million in 1960 and can be
modeled by the function p(¢) = 2560¢0178%, where ¢ is time in years after 1950 and p(t) is the
population in millions. Determine the average rate of change of p(t) in millions of people per year,
from 4 < ¢ < 8. Round your answer to the nearest hundredth.
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Last year, the total revenue for Home Style, a national restaurant
chain, increased 5.25% over the previous year. If this trend were to
continue, which expression could the company’s chief financial officer
use to approximate their monthly percent increase in revenue?
[Let m represent months.]

(1) (1.0525)™ (3) (1.00427)™
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(2) (1.0525)™ (4) (1400427)%
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An equation to represent the value of a car after ¢ months of
¢

ownership is v = 32,000(081)? ‘Which statement is not correct?
(1) The car lost approximately 19% of its value each month.

(2) The car maintained approximately 98% of its value each month.
(3) The value of the car when it was purchased was $32,000.

(4) The value of the car 1 year after it was purchased was $25,920.




